1. fde[d uRT (Electric Current) &t THMTE. SBTS (S| Unit)

TIT8?
A. dlee B.3NH
C. UfieR D. Tl ©

&g : Tde]d URT Bt THAME. SbTg UMUR (Ampere) ®,
71 9fd debg Ueh Paiird (Coulomb) 3TARN (Charge) &
JaTe ¥ URHTSd grdt &l

2. 3THI&R (Ammeter) &1 HT9aT & 31R 54 Tfde (Circuit)
H Y ST ST e?

A. a1t (Voltage) HTUA] &, THIHICR (Parallel) ® 57T
STaT e

B. << (Current) HTUdT &, 2U{IehH (Series) H 13T 3TdT
=

C.331%T (Resistance) HIUAT &, THIAICR | 15T STTdT &

D. UTR (Power) HIYAT &, AUIIhH A ST 5TdTe  (B)

1T - 3THIER (Ammeter) @3¢ (Current) ATYAT & 3R 380
AR Hfdhe H SRactTale (Series) 51T ST &l

3. fAufeifda A & B17-91 310 &1 797 (Ohm's Law) 8?2
AV=1+R B.V=1I°R
CV=IR D.V =R/l ©

I7%T : 3 &1 A" (Ohm's Law) dedl & b faHaiaR
(Potential Difference, V) ©RT (Current, ) ﬁﬁﬂﬂﬂm
glare: vV =1IR

4. fésdt aTetd (Conductor) &1 UfaRIE (Resistance) @
H 9 fbH P GopATIUTd! ElaT 8?2
A. TTeTdh bl &elTs (Length)

B. fafere ufaRierdr (Resistivity) &

C. 31U PBIC &IFhd (Area of Cross-section)

D. 38H d&q dTait URT (Current) (@
7T : MR (Resistance) BTIT: R oc | / A, 5T&T | =

e (Length), A = 813 (Area of Cross-section)

5. g & @ foog ueref &1 fafie ufatedr (Resistivity)
&9 37feib 8
A. Tt B. TSI
C. dram D. BT (D)

ST : &< B ST 10 377dhs! & TR, Bid (Glass) &t

fafere ufaRerar (Resistivity) 10" - 10" Q'm &l &,
ST OEd 37Eid Bl

6. UfcRIET DI FHMICR (Parallel) # 5115+ W Bet UfdE
(Total Resistance) T GhHATUTd A BldT &:
A. Tt gfaTe & I1T &b SRTR
B. THt TfaRTes} o 37aR &b SRTeR
C. Tt ufaRrell & ZepHTIuTal & IPT & SRSk
D.3WIh H J BIs Tl (@
& : JHTIAR 1519 (Parallel Combination) # —
/Ry =V/Ry + 1/Ry +1/Rs
7. faegd %31t (Electric Energy) &t anfoif>aids ST
(Commercial Unit) dIT8?
A.5[cT B.@Te
C. fdbatrare D. fdallare-ger (D)
7% : aTfuifsAcs 3UAIT H fdeld 351 bl ghTE &
fpatdre-gier (kWh) : 1kWh =3.6 x 10° 5[
8. g (99 51 B&dr & fdb 3cua H™T (Heat) IRt b

AT YT R, a8 2 :
A. =T Bl IR B. 5]c1 T faA
C. 3110 &1 fHaH D.eisidIfAad  (B)

7% : 511 1 3HEHIY YMTd AT (Joule's Law of
Heating) ®gdre — H = I?Rt

9. Ife fapeft Ufasier (Resistance) R faHdiaR (Potential
Difference) 31TeT o fedT S1TE 3R Ufde/ GAM I8, dl

ERT (Current) TR &1 YHT 17112
A EIRT GITHT 81 STTesft B. &IRT GHTA 371t
C. YR 3ATeft 81 srevft D. ERT = &1 SEIfH(C)

&7 : 3H Bl [HIH: | = V/R, Al V AT &1 e T | H
STTENT &1 STTeT

10.€79e (Tungsten) &1 YA1T ded 1 fhaTTAc
(Filament) A &Y fbdT STTaT 87
A. ZI®T TP (Melting Point) &H EldT &

B. Ig 3181 §gcic? (Insulator) EldT e

C. 9T Tetid dgd 37feid 81dl & 3R I 3T diaHH
e dbdT 8

D. € PH dices] IR &l IHb 35dT & (€

ST&T : <8c (Tungsten) T TTeiHic ~3380°C EIdT &,
599 98 3= agAd R Mt T8t figadr — Jod &t
fosade & fae 3meefi
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